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p@%:fZﬂ (6.2.2)

000000 E(X)O0OD0O0O000o0o0oooooooooo

%}:@ 000
E(X) =4 &N (6.2.3)
/ xp(x)dx 000



=:m it stands for meaning value (6.2.4)
E[X" =m, nO0000000O (6.2.5)
E[(X-m)"]=pn, nO00000DOODO (6.2.6)
o =1 (6.2.7)
pn =0 (6.2.8)
po =0% 00 (6.2.9)
K3
3 oo (6.2.10)
%—3 oo, 0b00dbob oboobooboobooboono (6.2.11)
6.22 000
1,y = p(T1, ..., Tp) (6.2.12)
P(x) = Prob. {ViX; < z;} (6.2.13)
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7.1.3 0O0O0D0O0DO (autocorrelation function)
00 6y(t):=«(t+7)0000

1 (T2
oz (7) = T /T/2 x(t)x(t +71)dt (7.1.7)
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7.3  Wiener-Khinchine Theorem

00 5000000 ¢,.(r)D00000O0OOODO @,(f)000000O0O0OODO
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In
8.1 UDOUODOODbODOO

8.1.1 ODOOOOOODO

Jil(t)
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T(t) = in()@i(t) (8.1.2)
T
z=|: (8.1.3)
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= : = (8.2.3)
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00000000000 ¥ooooooooao...

0ij = El(z: — 7)) (z; — T7)]
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Ar,Axy -+ Azx,Ax,
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goooobogoD ;000000000000 000DbO0O0Ob0DbO0On
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i), zeR"000000
i), ADDDODOO0OO0OO0O0ODO
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OO0 120000000000
. _—mp?
- 202
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y = Ax
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ogd 13
Ely| = E[Az] = Am (8.4.2)
842 0O0O0OOOOO
U0 14000 m=00000
Ay =E [yy"] (8.4.3)
= E [Azz" A" (8.4.4)
= AN AT (8.4.5)

843 0000DDOOOOD (Karhunen-Loeve Transformation)
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0oo0 Ay = AN AT (8.4.6)
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000000000000000000000000000000000000OO (Discrete
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n=0
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